NOTES:

A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/ POWER SUPPLY VOLTAGE.

2. OPERATION TO BE PERFORMED WITH ONLY —— 147.70 —
TWIN-DISC CONTROL SYSTEMS OR MODULES.
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION — =—12.70 ®13.5 THRU
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED /16 HOLES EQUALLY SPACED EYEBOLTS (2)
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH. FOR LIFITING MARINE TRANSMISSION ONLY. ~ ___
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED 15.70 — EQUALIZE LOAD ON BOTH EYEBOLTS — — — — — S| I | | — — — — R
POSITION, PULL TO ENGAGE SECONDARY CLUTCH TO LIFT MARINE TRANSMISSION N—ﬂ - - - - e - - - - ﬂ—(
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH PRIMARY CLUTCH (FIRST)
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL PRESSURE PORT
CONTROL VALVE IS IN CENTERED POSITION AND OPEN ] M14 X 1.5 METRIC PORT
WHEN LEVER IS ACTUATED FROM CENTERED POSITION. [ CONFORMS TO ISO 6149 !
2. CURRENT = 20 AMPS MAX. ] TIGHTENING TORQUE 20+2 Nm o o B o o o o o o o o o
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING. 7y

D. PRESSURE REGULATOR ADJUSTMENT. [
1. REMOVE 1002144 CAP AND LOOSEN 1002145 NUT.

2. CLOCKWISE ROTATION OF 1020939 PISTON INCREASES | !
PRESSURE. COUNTER CLOCKWISE DECREASES PRESSURE. |

3. LOCK PISTON IN PLACE USING JAM NUT AND REPLACE CAP.

E. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE
AND TEMPERATURE ALARM LEVELS.

&)

SECONDAR CLUTCH (FIRST)
PRESSURE PORT

M14 X 1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

&

WATER OUTLET FROM HEAT EXCHANGER

M42x2.0 THREAD METRIC q]
CONFORMS TO ISO 6149.
TIGHTENING TORQUE 108 +10 Nm e

/BREATHER / OIL FILLER

©542.9+0.2
©498.30
[T 1

»711.0
?679.45
¢ 647.635+0.065

WATER INLET TO HEAT EXCHANGER

8 M42x2.0 THREAD METRIC
AT CONFORMS TO ISO 6149.
| S (58T TIGHTENING TORQUE 108+10 Nm
| 1Rt | ,%f p
| | | > f
&1
5 SECONDARY CLUTCH (FIRST)
X ,\PAFfE?(SH?,'\EAEP%ﬁE PORT MAIN PRESSURE PORT
CONFORMS TO ISO 6149 M12x1.5 METRIC PORT
| TIGHTENING TORQUE 20+2 Nm e 88“;@5¥%1%§€82313E
| Lo
- 7 N SECONDARY CLUTCH (SECOND) : | f ‘ SAUGE LINE HERE ' | :
E— - HE&y - TIGHTENING TORQUE 16+1.5 Nm " | N
‘ PRESSURE PORT | PSS - N ' AN . » QD) %//
| M12 X 1.5 METRIC PORT | — A (A I 2 -~
\ CONFORMS TO ISO 6149 — [/ N R
y TIGHTENING TORQUE 16+1.5 Nm A e A W N -
| = H | X
| 46.0 o L P I ek &
' i TTTTIN PRIMARY CLUTCH (SECOND)
——y ‘ ‘ PRESSURE PORT
FLYWHEEL OUTLINE o 7 7 M12X1.5 METRIC PORT
MUST CONFORM TO SAE J620No0.460 ! i o CONFORMS TO I1SO 6149
[N/ TIGHTENING TORQUE 16+1.5 Nm
LT T |m ] (U]
$17.0 THRU.
LUBE PRESSURE PORT
6 HOLES EQUALLY SPACED LB RS RE PR~
CONFORMS TO ISO 6149 CLUTCH SOLENOIDS LUBE PRESSURE PORT
TIGHTENING TORQUE 34+3 Nm SEE NOTE "A" M18 X 1.5 METRIC PORT
sAE #0 HousING MouNTING FAcELL SECTION A-A CONFORMS TO ISO 6149
MUST CONFIRM TO SAE J617 @ TIGHTENING TORQUE 34 +3 Nm
SECONDARY CLUTCH (FIRST) @
PRESSURE PORT
M12 X 1.5 METRIC PORT
TIGHTENING TORQUE 16+1.5 N :
£l M CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm
PRIMARY CLUTCH (FIRST) <):(>
PRESSURE PORT
M14 X 1.5 METRIC PORT
CONFORMS TO ISO 6149 - 762.8 -
PRIMARY CLUTCH (FIRST) TIGHTENING TORQUE 20+2 Nm
PRESSURE PORT
M12 X 1.5 METRIC PORT ~ 619.5 7 - 697.5 =
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm H
SEE NOTE "C"
LUBE PORT (AUXILIARY)
M27X2.0 METRIC PORT
o SO R TR B
75+7 Nm g
MAIN PRESSURE PORT SEENOTE "B
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149 9791
TIGHTENING TORQUE 16+1.5 Nm : OIL GAUGE
HEAT EXCHANGER WATER
= | DRAIN PORT 1
N ) | M12 X 1.0 METRIC PORT
] | ] p i CONFORMS TO ISO 6149
‘ N’ ‘ Ny | TIGHTENING TORQUE 12+1 Nm
| L‘ | T T T )
| |
5 | | u
= b
| TEMPERATURE AND /r’—T |
Al LUBE PRESSURE PORT | 1 H
| AFTER HEAT EXCHANGER I | |
M14 X 1.5 METRIC PORT j%éﬁ © v |
| CONFORMS TO ISO 6149 < | 8
| TIGHTENING TORQUE 20+2 Nm B ] 3 | |
C .@ i 3 ‘
| CENTRE OF GRAVITY I \@ gﬁ o INPUT SPEED SENSOR PORT N | i
I 1g | =5 i 5/8-18 UNF THREAD. |
| Ll @ @ @4 | /‘: TARGET WHEEL: 61 TEETH N |
I @ B | :\ ‘ ‘
‘ Eal |« ’ @ 1l 1]
IR ) | I % _: ‘ i | ‘ ] | i ) ) I | )
* i 3 : - ‘ ; : [ | I | ‘ | ]
° | @ @ ! | OLFLTER——— | g 1 o
1 = 24 mm CLEARANCE REQUIRED |
e pt o I — S~ T TO REMOVE FILTER CANISTER i ‘
| o2 Iy \ D — - I { - it
\ + . & I " o 0o b | /| PRIMARY CLUTCH SHAFT & TIGHTEN FILTER AN ADDITIONAL § 15 - 1
| s / / VA by + ” 1/2 OF TURN AFTER FILTER il |
o | J ‘ ‘ [ GASKET MAKES CONTACT , r
N~ | o
2 T SAE 127-2/4, 32-4 OR 38-4 =
3 } I | PUMP MOUNT =
o - | | CONFORMS TO SAE J744
(q\] ‘ | r
| : ' R.H. ENGINE
| % o ROTATION DRIVEN 0
NN ﬁ S THRU. PRIMARY CLUTCH o S
| il a B r = 29
— H \ K © 8 E
| % \ OIL STRAINER S
B g e —— - —= M12X1.75 THREAD, 13.8 DEEP S
| 121 mm CLEARANCE REQUIRED
1 TO REMOVE STRAINER L
I - - = _— o o o -
L R 0 T 33740
\ o O
E : i o 23 OUTPUT SHAFT ¢
CENTRE OF GRAVITY f \ \ o
| SR ~ 3250 _— |
| ;; L= B.C. (REF) \ GREASE FITTING
VL TRAILING PUMP OIL STRAINER ’
{ NS M12X1.75 THREAD,13.8 DEEP i .
| i ‘ 121 mm CLEARANCE REQUIRED / 11 |
S ‘ < TO REMOVE STRAINER EE@%‘STJ%E %“AFF’{T :
\:“‘ﬂ# . — ’ — 1 i \ M14x1.5 METRIC PORT — ~“W~#ﬂ-/
' CONFORMS TO ISO 6149
@24.5 THRU ! TIGHTENING TORQUE 20+2 Nm
12 HOLES .
EQUALLY SPACED AN OIL DRAIN TRAILING PUMP
M2a%3-0 aHinel D, 39.0 DEEP BASED ON 14 HOLES 40.7 | M33 X 2.0 METRIC PORT TEMPERATURE PORT
! ' . CONFORMS TO ISO 6149 M14x1.5 METRIC PORT
USE ALL 16 HOLES FOR MOUNTING UNIT. 160.0 TIGHTENING TORQUE 88+8 N CONFORMS TO ISO 6149
USE 8.8 PROPERTY CLASS CAPSCREWS — ~Ea T ¢ m - =~ 230
50.0 —=—=|—= 2300 ———= PER | T AND TORGUE T 7 OR M12X1.75,33.0 DEEP, | 2 PLACES 15 mm CLEARANCE REQUIRED TIGHTENING TORQUE 20+2 Nm
>0 898- ORQUE TO S574 0 8 HOLES, 4 EACH SIDE ! TO REMOVE PLUG OUTPUT SPEED
SERVICE MANUAL VALUES. ’ 60.0 - SENSOR BRAGKET - 609 8 _
- 2 PLACES |—> A - AUXILIARY LUBE SUCTION PORT TARGET WHEEL: 60 TEETH
FLANGE SIZE 38 PER ISO 6162 (CODE 61)
M12 X 1.75 TAP, 33.0 DEEP.
235.0
2 PLACES
.—43 = 440.00 - 4 EQUIPMENT SHOWN: APPLICABLE MODELS:
3] g 4] “SAE #0 MGX-6690SC PER 1020674 ASSEMBLY
- 440.00 - - SAE 460 CENTA CF-R-520-HR COUPLING MGX-6848SC PER 1020675 ASSEMBLY
- GP VALVE WITH EC300 HARNESS
[1] INPUT GROUP REFERENCE PLANE - RAW WATER HEATE EXCHANGER
- TRAILING PUMP - | NDWF-04792 | 05/14/2014
PTO ADAPTER MOUNTING FACE - SAE J744 127-2/4, 32-4 OR 38-4 LIVE PTO )
(2] - 1024843X BLUE VISION - NG BASIC MONITORING GROUP R PATE
X MATERIAL: DATE:
[3] LEFT BRACKET MOUNTING FACE NOTE: ST USE ASSENBLY e61026.154 @D G THRD AL 01/20/2014
WRE ko’ SCALE:
2] RIGHT BRACKET MOUNTING FACE ALL POINTS AVAILABLE FOR TESTING ARE CODED<:> SIVILAR TO: 0 I 4 RAGINE. W1 E3103 . USA
M ET R C N CANED DIMENSIONS =0 DRAWN BY
X. +0.75 DJM
-5 HIVEPTO POMP MOUNTING FACE T R T T ST %008 PESCRPTION weaae— 1025142K
"*""TWIN DISC, INCORPORATED e Ry NP INSTALLATION APPROVED BY. |DWG SHEET REV:
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-6690SC/MGX-6848SC ALC size: - AQ 1 0OF 1 -

J I H G F E D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View8
	Section View A-A


